1 Year Point-to-Point Indexed

I
Account w/ Cap Adjustment =
Scenario 1 -=— Scenario 2 | S&P Starting Point = 1000
—— Scenario3
1 Year Cap = 4.0%
- 1150
Scenario 1: End Point=1100
- 1100 1100/1000 = 10% increase
§ 1050 10% > 4.0% cap so 4.0% credited
% \ ~7 1000 | scenario 2: End Point=1030
N 950 1030/1000 = 3% increase
3% < 4.0% cap so 3% credited
900
850 Scenario 3: End Point=900
| 900/1000= 10% decline
0 1 -10% < 0% so 0% credited

ne'-’n"ce STHNDHBD © 2011 Reliance Standard Life. For agent use only. Not intended for public distribution.



